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No | RETHETH 4 B4 . TH & #H=(m)

1 FHRER 4 R JE FR BT —TH 5—14\4% 645.05

2 hRX ;i ZTE 201—3 157.93

3R KEiE —TH 8—12 1450.49

4 pRX KEiE —TH 8—7 292.21

5 &K FA/NE] =TH 2034} 3% 451.97

6 BRX 3] —THB 2—245\1% 330.04

1HERX A F 21—1 453.25

8 FTEX mHE ATH 14—1 856.46

9 FEX mHE ATH 6—4 4853.94
10 FEX m#HE ARTH 1 2004.83
1 HERX FaHTE ARTH 21—1 346.24
12 HEX m#HE ARTH 5—1 6946.43
13 #FEX mHE ATH 13—1 142.46
14 B8ERKX S —TH 1—-2 266.02
15 2ARX EAE=] —TH 3 3306.76
16 IR aF mTH 28— 144\3% 2586.06
17 IER aF mTH 29—14 382.26
18 ;TR #h —TH 2—1 636.17
19 BER DRI ZTE 299—3 628.14
20 KERX BOK =TH 41—114M1% 864.88
21 KHER AFIH —TH 184—1 179.83
22 BA/RX RaXK =TH 20—22KU23 574.72
23 hEFX R —TH 120—10 334.20
24 $2 X TaHF =TH 277 712.10
25 #2[X TaHF =TH 280. 286 409.45
26 F2 it [X [iip ol —TH 188—134M1%E 477.39
27} [X HmE ZTE 67—5 273.09
28| #2 it [X FnHA —THB 15—2 664.54
29 E2ERX it —TH 7—7 1091.88
0 E2EX El=] ZTE 1515 1858.26
31 RBX INER mTH 6—12 155.57
32| BERX ST —TH 1286—24M1% 662.94
33 B =R ARTH 2936—2K% U3 188.50
34 BEhX Bkt ARTH 1649—1 890.25
35 B o) ZTH 6515\1% 1023.60
36 IR Wiz =TH 4162 1820.80
3TIFNR hi —TH 1572—2 636.38
38 3L)IlTh ELTRHET ATH 53—1 869.52
39 R E3Ln] —TH 1139 53.20
40 K h E3Ln] —TH 1139 6770.63
41 Figh it aitl —THB 198—4 47.18
42 Figh it aitl —THB 244—1 319.58
43 Figh B3 ZTH 204—17 17.15
44 Figh INER =TH 1466—40 1621.70
45 Figh il I\TH 778—4 445761
46 Figh X /7 HART 978—12 1604.31
47 BTH™ EREF+HE 1293—2 50.22
48 INETH ENEHE =TH 9—14 5908.76
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49 HEF ™ BAR 571—14t 1767.06
50 B Epm ¥ —THB 10—6 198.71
51 BEmM T —TH 19—2 1319.85
52 EiLmh s =TH 2—27 4.04
53/ f8% =BE 2250—17 1253.08
54 R AKX —THB 740—2%} 1357.63
55 ;5™ e ZTE 1243-3 784.88
56 ;5™ hE —TH 1389—2R U3 948.76
57 HEA LT =ik =TH 26—1 437.51
58 HEFT LT 3R mTH 31—2 141.50
59 HEHEHH A HTFITH 519—2 544.79
60 HnFEHET AEF ZKE 213—2 4.03




